

## Multiply by $10^{-3}$ (E)

Find each product.

$$18 \times 10^{-3} =$$

$$16 \times 10^{-3} =$$

$$97 \times 10^{-3} =$$

$$70 \times 10^{-3} =$$

$$3 \times 10^{-3} =$$

$$20 \times 10^{-3} =$$

$$51 \times 10^{-3} =$$

$$73 \times 10^{-3} =$$

$$88 \times 10^{-3} =$$

$$18 \times 10^{-3} =$$

$$89 \times 10^{-3} =$$

$$27 \times 10^{-3} =$$

$$40 \times 10^{-3} =$$

$$54 \times 10^{-3} =$$

$$40 \times 10^{-3} =$$

$$21 \times 10^{-3} =$$

$$56 \times 10^{-3} =$$

$$12 \times 10^{-3} =$$

$$91 \times 10^{-3} =$$

$$2 \times 10^{-3} =$$